

NAME: Tianyi He

E-MAIL ADDRESS: th586@scarletmail.rutgers.edu

It is OK to post the homework in your web-site

$$1. f(x) = f(0) + \frac{f'(0)}{1!}x + \frac{f''(0)}{2!}x^2$$

$$f(0) = \sin(0) = 0, \quad f'(x) = \cos(x+x^2)(1+2x), \quad f'(0) = \cos(0) = 1$$

$$f''(x) = -\sin(x+x^2)(1+2x)^2 + 2\cos(x+x^2), \quad f''(0) = 2\cos(0) = 2$$

$$f(x) = 0 + x + x^2 = x + x^2$$

$$2. \sin(x+x^2) = (x+x^2) - \frac{1}{3!}(x+x^2)^3 + \frac{1}{5!}(x+x^2)^5 + \dots$$
$$= x + x^2 - \frac{x^3 + 3x^4 + \dots}{6} + \dots$$

$$= x + x^2 - \frac{x^3}{6} - \frac{x^4}{2} + \dots$$

$$3. f(x) = \arctan(x), \quad f'(x) = \frac{1}{1+x^2}$$

$$\text{Since } \frac{1}{1-x} = \sum_{n=0}^{\infty} x^n, \text{ then } \frac{1}{1-(-x^2)} = \sum_{n=0}^{\infty} (-x^2)^n = \sum_{n=0}^{\infty} (-1)^n x^{2n},$$

$$\text{and } f'(x) = \sum_{n=0}^{\infty} (-1)^n x^{2n}.$$

$$\text{So } f(x) = \int \sum_{n=0}^{\infty} (-1)^n x^{2n} dx = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1} + C.$$

$$\text{Since } f(0) = \arctan(0) = 0, \quad f(0) = \sum_{n=0}^{\infty} (-1)^n \cdot (0) + C = 0, \text{ then } C = 0.$$

$$\text{So } f(x) = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1}.$$

$$4. \text{ Let } \alpha = \arctan x, \quad \beta = \arctan y, \text{ then } x = \tan \alpha \text{ and } y = \tan \beta.$$

$$\text{So } \tan(\alpha + \beta) = \frac{xy}{1-xy}, \quad \alpha + \beta = \arctan\left(\frac{xy}{1-xy}\right), \quad \arctan x + \arctan y = \arctan\left(\frac{xy}{1-xy}\right)$$

$$5. \text{ Let } A = \arctan\left(\frac{1}{2}\right), \quad B = \arctan\left(\frac{1}{3}\right), \text{ So } \tan A = \frac{1}{2}, \quad \tan B = \frac{1}{3}$$

$$\tan(A+B) = \frac{\tan A + \tan B}{1 - (\tan A)(\tan B)} = \frac{\frac{1}{2} + \frac{1}{3}}{1 - \frac{1}{2} \times \frac{1}{3}} = 1$$

$$\text{Since } -\frac{\pi}{2} < A < \frac{\pi}{2}, \quad 0 < B < \frac{\pi}{4}, \text{ then } A+B = \frac{\pi}{4},$$

$$\text{We prove that } \arctan \frac{1}{2} + \arctan \frac{1}{3} = \frac{\pi}{4}.$$